3. MUMEBIERE OFmpIME [P 3 0]
B NAR—NVT 4 7 ZA MR EEE R HRET LR
"E MEBEBREEEREZ (AR "=

f:j T 17&&% 2.5&&1 575—@’2 7.5&@2 1o§fﬁi 15&#@% 20?&2 25?&2 30&&2 40&#@2 50%_ A (%) £HR=E |F B & K
250 F S5LLTF| 7.5LLF| 10LAF| 15LLF| 20LAF| 25L0F| 30LAR| 40LAF| 50LATF| #BZ5 (A =mSv) | (mSv) | (mSv)
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30~34 5,467 142 13 17 6 3 0 0 0 0 0 0] 5,708 (10.6) 990.2(0.2| 12.4
35~39 5,422 194 68 15 6 2 0 0 0 0 0 0f 5,707 (10.6)| 1,025.0{0.2| 13.3
40~44 6, 930 186 66 18 6 1 0 0 0 0 0 of 7,207 (13.4)| 1,077.7(0.1| 12.6
45~49 7,132 143 10 18 5 1 0 0 0 0 0 of 7,369 (13.7)| 1,000.7({0.1| 11.2
50~54 6,118 153 40 10 4 1 0 0 0 0 0 of 6,326 (11.7) 777.21 0.1 11.3
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60~ 64 3, 748 90 40 10 4 1 0 0 0 0 0 of 3,893 (7.2 548.6(0.1| 11.1
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